2022-11-09 rabbit_9.11. Lopputulos
4 poytid, 8 paria. Jakoméari: 18. Keski: 54.
Sija Pari Pisteet % Nimi J-ID Kerho
1 8 70 64,8 Jarmo Laakso - Matti Alanko 1365 2736 Salon Bk
2 7 68 63,0 Timo Mikeli - Jari Hilska 1319 1883 Salon Bk
3 2 64 59,3 Liisa Sievdnen - Hanna Ruska 3183 3185 Salon Bk
4 3 62 57,4 Pirjo Kujala - Henri Virtanen 3302 3301 Salon Bk
5 6 52 48,1 Merja Molsi - Jaakko Salo 2839 2981 Salon Bk
6 4 44 40,7 Antti Voitto - Riitta-Liisa Mékeld 1391 1318 Ei SBL:n jdsen - Salon Bk
7 5 38 35,2 Jaakko Viima - Matti Rintala 2080 3024 Salon Bk
8 1 34 31,5 Elise Jauros - Outi Yrttiranta 1761 2746 Salon Bk
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Q10 i AKS8 9 | | QJ10632 K5 . J109764
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IL 5 5 5 75 1L 7 7 7 6 6 E 6 : :
1L 7 7 11 10 9
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
83 3N N = &2 400 60 71 2N W -3 ¢3 150 60 71 24 E +1+10 -140 51
54 l¢e N +1vA 90 42 62 2N W -1 10 50 33 83 2v E +1 a2 -140 51
62 3v S -1 ¢A S50 15 83 3N W -1 3 50 33 54 1v E +4 &A 200 15
71 3v S -1 ¢A S50 15 54 2v E +1 a7 -140 06 62 2v E +3 a2 200 15
4 K8 5 A762 6 AR852
10852 KQ93 Q1072
Al J1042 42
KJ1052 8 A83
103 QJ9765 I3 10954 J97 643
k9763 {1 | AQ 106 I AJ42 83 _ | k4
652 Q10983 KQ65 A93 975 AKQJ108
Q63 - AQI1065 73 Q10652 J9
Ad2 KQ8 KQ10
J4 875 AJ965
K74 87 63
A9874 KJ942 K74
54 N 600 2N E -120 54 S450
& ¢ v &« N & ¢ v & N & ¢ v &« N
PE 11 6 8 5 9 P 5 5 5 5 5 PE 7 7 11 11 7
IL 2 7 4 7 4 E 6 6 IL 5 6 2 2 2
IL 8§ 8 7 7 8
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
48 3Nx S = 410 750 60 72 286 W+1e] -110 60 48 4¢ E -3 vA 300 60
72 3N S +1 43 630 472 65 2N E = ¢5 120 42 13 2¢v S +3¢7 200 24
65 3N S = «10 600 24 48 2N N -2 #+4 200 214 65 3v S +2e7 200 24
13 3N S -1 410 -100 06 13 2v N -3 &4 300 06 72 3v S +2 45 200 24
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2022-11-09 rabbit_9.11. Lopputulos
4 poytid, 8 paria. Jakoméari: 18. Keski: 54.
853 KQ942 863
7 1543 8 93 9 109765
96432 Q1084 K5
6 K6 1043
A4 KQJ106 J863 A105 Q107 _ 1542
KQ 4 982 K754 AQ108 Q43 | | 8
AQI1085| ! J7 A6 75 A97643 QJ82
J953 N Q82 Q97 AJ54 Q875
972 7 AK9
A1076 J62 AK2
K KJ932 10
AK1074 10832 AKJ962
AN W -630 S5v W -450 4N N 430
& ¢ v &« N & ¢ v & N & ¢ v & N
PE 5 4 7 3 3 P 3 7 1 4 3 PE 10 4 9 7 10
IL 8 9 5 9 10 E oo s 2 I 3 9 4 6 3
1L 10 6 11 9 9 L : 5
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
85 3¢ W 246 200 60 16 3v W = ¢10 -140 51 85 4v N = ¢8 420 60
24 2N W +2 26 -180 42 24 29 W +1 ¢8 -140 51 24 4v S -1 ¢A 50 33
73 286 S -3 aA 300 24 85 3N E = a7 400 24 73 64 S -1 vQ 50 33
16 3N W = &6 -600 06 73 4v E +1 &7 450 06 16 5 S -3 ¢A -150 06
A973 1074 KJ1082
10 5 11 «oo 12 G
A8 9 102
A6432 10864 862
10542 KQ8 AQ63 K98 7 AQ9653
KQ10653 _|_ s ATA2 865 72 K6543 | | 7
K 1092 J32 K654 AKJ965 74
Q10 K98 732 KJ95 5 AK104
J6 J52 4
9 A43 A982
QJ76543 AQ1087 Q83
J75 AQ QJ973
S5#x S -500 4v S 420 SN W -460
& ¢ v & N & ¢ v &« N & ¢ v & N
PE 9 9 3 4 7 PE 8 8 10 7 9 PE 51 3 3 2
IL 4 4 10 8 4 I 5 5 3 5 4 IL 8 11 10 9 11
L . . 2 . .
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
21 5v W -1eA 100 60 74 49 N = «8 420 60 35 44 E -3 &7 150 60
74 3v W+l eA -170 42 35 2¢v S +3¢2 200 42 74 29 W +1 8 -140 42
35 4v W = ¢A 620 15 21 3v S = «A 140 24 21 2N E +2 &7 -180 24
68 4dv W = +A 620 15 68 3v N -1 &5 50 06 68 5¢ W+l a2 420 06
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2022-11-09 rabbit_9.11. Lopputulos
4 poytid, 8 paria. Jakoméari: 18. Keski: 54.
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AKIJ2 R Q753 Q8 AJ32 62 105
KQ42 _I_ 965 AKQ103 L 985 AKIJ | 7653
QJ5 K6 975 J8 AQJ932 107
52 KQJ9 Q108 A942 AK Q7542

1094 K654 KQ98743

AJ873 J6 Q10

A74 AK102 5

83 KJ7 1098
4N E -630 3v E-140 3y W-140

& ¢ v &« N & ¢ v & N & ¢ v & N

PE 5 5 5 3 3 PE 4 7 3 5 5 PE 4 3 4 8 7
IL 7 6 8 8 10 1L 9 6 9 7 8 IL 9 10 9 5 6
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
75 3N W -1 410 100 60 81 IN S -1 vA 50 60 75 46 W -1 4A 50 60
81 460 W = v10 620 42 32 3v W = ¢3 -140 33 81 34 S -1 vA -100 42
32 3N W+1410 630 24 75 29 W +1 ¢3 -140 33 32 4¢ W = aA 130 15
46 44 E +1¢A 650 06 46 3v W+1 410 -170 06 46 4 W = aA -130 15

85 Q4 A72
16 A932 17 QJ 18 93

AKJ103 KQJ10943 QJ10

102 108 A9876
AQJ10942 76 K2 A985 J43 Q8
J4 O 765 K10984 | 632 AJ72 | L 654
4 Q72 A52 876 8654 AK3
654 AQ983 QJ6 754 54 KQJ102

K3 J10763 K10965

KQ108 A75 KQ108

9865 972

KJ7 AK932 3
3v N 140 34 S 140 34 S 140

& ¢ v & N & ¢ v &« N & ¢ v & N
PE 6 9 9 5 5 P 9 9 6 8 7 PE 6 6 6 9 6
IL 7 4 4 8 7 E : 9 IL 7 7 7 4 7
I 4 4 7 4 6
L : 4

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
76 3N S -1 4Q 50 60 28 3v W -3a4Q 150 60 51 24 S = &5 110 60
28 4y S -2 +4 -100 42 43 3¢ N = &5 110 33 76 3v W -2aA 100 42
43 38 W = ¢A -140 24 51 3¢ N = &7 110 33 28 IN E = 46 90 15
51 364 W+l ¢A -170 06 76 5 S -3 v4 -150 06 43 IN E = #8 90 15
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